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e e RS FT =5 )2 %S T-1 636 — 1f 011 [~ o027 o |/]12] o0.15 0.16 [0.014|~|o0.031 | 1 ]/[12]0.021] 0.022
FP =5 )1 2 THH%ST-3 636 — 2[ 010 ~] 024 0] /| 12] 0.18 0.016 | ~]0.036] 3 |/] 12] 0.024
FT =5 )1 Z Tk ST-8 636 — 3/ 0.11 [ ~] o032 1]/]12] 0.16 0.015 [ ~]0.035] 1 ]/]12]0.021
e e R P +JEVEIERST- 1 605 - 1/ 0.10 [~] 0.20] o | /| 12] o0.16 0.19 0013 ~[o0.045[ 1 |/[12]0.022] 0.022
T U ST- 2 605 — 2[ 010 | ~]o0.17| 0| /| 12] 0.14 0.013 | ~10034] 1 |/]12] 0.020
T WS T- 3 605 — 3/ 0,09 | ~]o0.17] 0|/|12] 0.13 0.014 | ~]0025] 0 |/] 12] 0.019
RS T-4 605 — 4 0.09 [ ~] o016 0| /| 12] 0.13 0.013 | ~]0.035] 1 ]/]12]0.019
S T-5 605 — 5[ 009 |~]o0.15] 0]|/|12] 0.13 0.012 | ~]0.024] 0]/]12]0.018
WS T-6 605 - 6[ 010 |~ o015 o | /[ 12] 0.12 0.013 | ~]0.030] 0]/]12]0.019
BB EEST- 1 610 - 1f 0.10 [~ o021 | o | /| 12] 0.14 0.015 | ~]0.028] 0 | /] 12] 0.020
BB IEERST-2 610 - 2[ 012~ o028 0]|/|12] 0.17 0.015 | ~]0.030] 0 |/]12]0.021
B EHERST-3 610 - 3[ 015~ o068 1 |/|12] 0.24 0.018 | ~]0.034] 2 |/]12]0.025
B IEERST-4 610 - 4 014 [~ 029 o | /| 12] 0.19 0.015 | ~]0.028] 0| /] 12] 0.022
B IEFERST-6 610 - 5[ 012 | ~]0.73| 2 | /| 12] 0.26 0.014 | ~]0.026] 0| /] 12] 0.020
BRI ST- 12 610 - 6 0.14 |~ 024 0| /| 12] 0.18 0.015 | ~]0.023] 0| /] 12] 0.018
BRI ST- 14 610 - 7[ 010 |~ o047 1|/ 12] 0.17 0.014 | ~]0040] 1 |/]12]0.022
V5SS T- 2 615 — 1f 014 |~ o039 1 |/[12] 0.21 0.016 | ~]0.039] 2 | /] 12] 0.024
V5SS T- 3 615 - 2[ 018~ 052 4 |/]12] 0.30 0.016 | ~]0045] 1 | /] 12] 0.026
V5SS T- 7 615 - 3/ 015~ o062 4 |/|12] 0.29 0.018 | ~]0.048] 6 | /] 12 0.030
V5SS T-8 615 — 4 010 [ ~] 020 o | /| 12] 0.15 0.013 | ~10.029] 0 ]/]12]0.019
TP MIRST-1 619 - 1f 012 |~ 044 3 |/|12] 0.25 0.015 | ~] 0.052 | 4 | /] 12] 0.030
P HHEST-5 619 - 2[ 014 |~]o0.30] 0]|/]12] 0.19 0.017 | ~]0.040 ] 4 | /] 12] 0.027
P HHEST-8 619 - 3/ 011 f{~]o034] 1]/]12] 0.18 0.016 | ~]0.032] 2 |/]12]0.022
R Al e AIRUEEST-1 632 - 1/ 0.10 [ ~] 022 ] o |/ 12] o0.14 0.13 0017 ~]0.033] 1 |/]12]0.022[ 0.020
SVEMIRST-2 632 - 2[ 010~ o016 0]/|12] 0.13 0.014 | ~]0.026] 0 |/]12]0.021
L IBVEST-3 632 - 3/ 009 |~]015] 0] /|12] 0.13 0.015 | ~]0.024] 0| /] 12] 0.020
L IRVEINST-4 632 - 4] 010 | ~] 0.15] 0 | /| 12| o0.12 0.015 | ~]0.025] 0 | /] 12] 0.020
S IBVENST-5 632 - 5/ 009 | ~]o021] 0]/[12] 0.13 0.013 | ~]0.028] 0]/]12]0.019
Gy —Ax W7« K - B9 S T- 1 628 — 1[ 0.09 |~ o013 o]/ 4] o.11 0.13 0015 ~|o0.023] 0o ]/|] 4]0.018] 0.018
W7 - KV - SRS T-2 628 - 2[ 010~ 023 0]|/] 4] 0.15 0.016 | ~]10.035] 1 |/] 4]0.024
W 5 - KV - S5V S T -3 628 - 3[ 010~ o014 0|/ 4] o.11 0.014 | ~]0.023] 0 |/] 4 ]0.018
W7 - KV - 35S T-4 628 — 4[ 009 |~ o014 0|/ 4] 0.12 0.015 | ~]0.022] 0 |/] 4 ]0.018
W5 - KV - M ST -5 628 - 5[ 010~ o014 0|/ 4] 0.12 0.015 | ~]0.022] 0 |/] 4 ]0.018
W 5 - KV - VST -6 628 - 6/ 010 |~ o041 | 1 |/] 4] 0.19 0.014 | ~]0.038] 1 ]/] 4]0.023
W7 - KV - SRR S T-7 628 — 30[ 0.10 [~ 0.16 | 0 | /| 4| 0.13 0.017 | ~]0.022] 0 |/] 4 ]0.019
LSS T-1 628 - 7[008|~]o12| 0|/ 6] o0.11 0.016 | ~]0.019] 0 |/] 6 |0.018
LSS T- 2 628 - 8 008|~]o12| o0/ 6] o0.11 0.016 | ~]0.019] 0 |/] 6 | 0.018
LSS T- 3 628 - 9[ 009 |~]o12| 0|/ 6] o0.11 0.015 | ~]0.020] 0 |/] 6 | 0.018
RS T-4 628 - 31[ 0.08 |~ o013 o |/| 6] 0.11 0.016 | ~]0.020] 0 |/] 6 |0.017
A ST 1 628 — 10[ 0.10 [~ 024 0 |/| 6| 0.14 0.016 | ~]0.034] 1 |/] 6 |0.021
FAIHEIST-3 628 — 11f 010 |~ o012 o |/| 6] 0.11 0.016 | ~]0.021] 0 |/] 6 ]0.018
A LIHEIST-4 628 - 12[ 010 |~ o013 o | /| 6| 0.12 0.015 | ~]0.020] 0 |/] 6 |0.018
KA ST-7 628 — 13[ 0.12 |~ o035 2|/ 6| 0.21 0.016 | ~]0.025] 0 |/] 6 |0.021
FAIHEEEST-11 628 — 14[ 0.10 |~ o013 o | /| 6 | 0.12 0.016 | ~]0.021] 0 |/] 6 ]0.019
FAILHEEST-12 628 - 15[ 0.10 | ~] 0.13 | o | /| 6 | 0.12 0.016 | ~]0.021] 0 |/] 6 ]0.018
FA MR ST-13 628 - 16[ 0.10 | ~] 013 o | /| 6 | 0.12 0.014 | ~]0.021] 0|/] 6 ]0.018
FARTHEIST- 1 628 — 17[ 0.10 [~ 024 0 | /| 4| o0.17 0.014 | ~]0.024] 0| /] 4 ]0.019
FARTHEIST-2 628 - 18[ 0.11 |~ o015 0 |/| 4| 0.13 0.016 | ~]0.021] 0 |/] 4 ]0.018
FPUIRST-1 628 - 19[ 010 |~ o015 o | /| 4| o.12 0.013 | ~]0.021] 0|/] 4]0.016
FFPUIRST-2 628 - 20[ 0.10 |~ o015 o | /| 4| o.12 0.013 | ~]0.024] 0 |/] 4 ]0.017
FPUIRST-3 628 - 32[ 010 |~ o014 | o | /| 4] 0.12 0.011 | ~]0019] 0]/] 4 ]0.015
HFHEIRST- 1 628 — 21f 0.09 | ~] o014 | o | /| 4] 0.12 0.013 | ~]0.022] 0|/] 4 ]0.016
HFEIRST -2 628 - 22[ 0,09 |~ o014 0 |/| 4] o0.11 0.012 | ~]0.017] 0 ]/] 4 ]0.015
EIRMEIRST-1 628 - 23[ 0.09 |~ o016 0]|/] 4] 0.13 0.013 | ~]0.018] 0]/] 4]0.015
EVRWEIRST-2 628 — 24[ 0.08 |~ o014 o |/| 4] o0.12 0.014 | ~]0.017] 0| /] 4 ]0.016
EVRMEIRST-3 628 - 25[ 0.09 |~ o040 1 |/] 4] 0.25 0.015 | ~]0.024] 0 |/] 4 ]0.018
EIRMEIRST-4 628 — 26/ 0.09 |~ o019 0 |/| 4] o0.15 0.014 | ~] 0.018] 0| /] 4 ]0.016
EVRWIRST-5 628 — 33[ 0.08|~]o15| o /| 4] o0.12 0.014 | ~] 0.018] 0| /] 4 ]0.016
FHWIRST-1 628 — 27[ 0.09 | ~] o013 o |/| 4] o0.12 0.011 | ~]0.018] 0]/] 4]0.015
WP VEIEST- 1 628 - 28 0.09 |~ o012 o |/| 4| 0.11 0.011 | ~]o0.016| 0 |/| 4 |0.014
WP VEIEST-3 628 - 34 0.09 | ~] o012 o |/| 4| o0.11 0.010 | ~] 0.016 | 0 | /| 4 | 0.013
= IRHHEST- 1 628 — 29/ 0.10 [~ 0.15] 0o | /] 4] o0.13 0.012 | ~]o0.018] 0]/] 4]0.015
SR — IS T- 2 631 - 1[ 009 |~]o.18] o ]|/] 4] o.14 0.15 [o0.012|~|o0.026| 0o [/| 4]0.017] 0.018
= IRHEHEST- 3 631 - 34[ 0,09 |~ o012 o |/| 4] o.11 0.008 | ~] 0.016] 0]/] 4]0.013
WP VBIEST-2 631 - 2/ 0.09]|~]o012|o0|/]| 4] 0.11 0.010 | ~] 0.017| 0 | /| 4 | 0.013
FHHUIRST-2 631 - 3[ 009 |~]o0.13]o0]|/] 4] o.10 0.009 | ~]0.017] 0 ]/] 4 ]0.012
FHWIRST-3 631 - 4| o012|~]o19|o0o]|/] 4] 0.15 0.012 | ~]10.027] 0 |/] 4 ]0.018
FHHWIRST-4 631 - 5[ 009 |~]o11|o]|/] 4] o.10 0.009 | ~] 0016 0]/] 4 ]0.012
JAIG I - A TR ST- 1 631 - 6/ 013 ~]o027lo0o]|/] 4] o0.18 0.010 | ~]0.023] 0 |/] 4 ]0.018
IR - SR TR S T- 2 631 - 7[016|~]o.17|lo0o]|/] 4] o.16 0.011 | ~]0024] 0|/] 4 ]0.018
I\ - SR TR S T- 3 631 - 8[o10|~]o12f o]/ 4] o.11 0.010 | ~]0.017] 0| /] 4 ]0.013
IR - SR TR S T- 4 631 - 9l o010|~]o22]0]|/] 4] o.16 0.011 | ~]0026] 0|/] 4 ]0.020
I\ - AR PN IfEE S T- 6 631 - 10[ 0.10 [ ~] o016 0 |/] 4| o0.13 0.011 | ~]0.023] 0 |/] 4 ]0.017
IR - AR TR S T- 7 631 - 35[ 009 |~ o012 0]|/] 4] o.10 0.009 | ~] 0016 0]/] 4]0.013
=S T- 1 631 - 11f 012 |~ o019 o |/] 4] o.16 0.011 | ~]0.025] 0 |/] 4 ]0.020
=S T- 2 631 - 12 011 |~]o15| 0 |/] 4] o.14 0.011 | ~]0.023] 0 |/] 4 ]0.017
=S T-3 631 - 13[ 010~ o017l o |/] 4] o0.15 0.011 | ~]0024] 0 |/] 4 ]0.019
BRIk ST- 1 631 - 14[ 008 |~ o026 0 |/] 4| o0.15 0.008 | ~] 0.021] 0| /] 4 ]0.016
BRI S T- 2 631 - 15[ 0.08 | ~] o017 | o |/| 4| o.12 0.009 | ~]0.026] 0 |/] 4 ]0.017
BRI S T- 3 631 - 16[ 0.09 [~ o016 0o |/| 4| o0.14 0.009 | ~]0.020] 0 |/] 4 ]0.016
BRI S T-4 631 - 17[ 0,09 [ ~] o054 1 |/] 4| 0.23 0.009 | ~]0083] 1 |/] 4]0.032
& HEHEST- 1 631 - 18[ 0.09 |~ o017 o |/] 4| o0.13 0.012 | ~]0.020] 0 |/] 4 ]0.016
& HYEHEST- 2 631 - 19[ 011 | ~]o029] 0 |/] 4] 0.20 0.014 | ~]0045] 1 |/] 4 |0.025
& HYEHEST-3 631 - 20[ 0.15 |~ o022 0o |/] 4] o0.19 0.016 | ~]0036] 1 |/] 4]0.024
RN IERST-3 631 - 21f 0.19 |~ o038 1 |/] 4| 0.26 0.023 | ~]1 0057 1 |/] 4 ]0.034
RS IERST-4 631 - 22[ 010 |~ o020 0 |/] 4] o0.15 0.014 | ~]0.025] 0 |/] 4 ]0.019
FR SRS T-5 631 - 36[ 0.07|~]o15| o/ 4] o.12 0.011 | ~]0.020] 0|/] 4 ]0.016
TR SRS T- 1 631 - 23[ 009 |~ o014l o0]|/] 4] 0.13 0.012 | ~]0.020] 0 |/] 4 ]0.016
TR SRS T -2 631 - 24[ 014 |~ o024 0 |/] 4] o0.19 0.017 | ~]0036] 1 |/] 4 ]0.024
TR SRS T -3 631 - 25[ 0.17 |~ 023 o /] 4] o0.19 0.018 | ~] 0037 1 ]|/] 4]0.025
PV RS T - 1 631 - 26 0.09 | ~] 013 0o |/| 4] 0.10 0.008 | ~] 0.014| 0 |/| 4 |o0.011
PV S T - 2 631 - 27[ 0.10 |~ 041 | 1 |/]| 4] 0.18 0.010 | ~] 0.024| 0 | /| 4 | 0.015
PV S T - 3 631 - 28/ 0.11 |~ 056 | 1 |/]| 4] 0.23 0.013 | ~]0.026| 0|/| 4 |0.017
PV S T - 4 631 - 29[ 0.09 |~ 051 | 1 |/]| 4] 0.20 0.009 | ~]0.026| 0 |/| 4 |0.015
PV RS T - 5 631 - 37/ 0.08] ~)o0.10] 0o |/| 4] 0.09 0.008 | ~] 0.013] 0]/] 4]0.011
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